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Answer either in English or in Assamese

1. Answer the following questions in one word or
in one sentence each : 1x7=7

weTd oA S| Teq Ot *1% 7 @Bl A R -

(a) Why is 14th July celebrated as the
National Day in France?

>8 TR ekl T il i fabieet R e
T4 =7
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(b)

(c)

(d)

(e)

(g)

22A/580

(2)

In which year did Louis XVI convoke the
meeting of Estates General?

@D TRBE @ TS (Y6 (TEIRER TS

I e 2

Who was Necker?
G & =1fee 2

Who said ‘Holy Alliance’ as ‘high
sounding nothing’ ?

“Iffa pf&’® ‘high sounding nothing’ 3f
I (3l 2

Who was the founder of Young Italy’ ?
‘Young Italy’ @11 4] Sfafzs 2

Name the Russian Czar who said,
“Turkey was the sick man of Europe”.

RERE TS I ) Bl G 1 B
G TR (e 2

Why is the Battle of Waterloo called a
decisive battle?

Waterloo ¥ < Frmmed & 3fF fou
TR =7 ?

( Continued )

2. Answer the following questions in brief :

(3)

W i KPRy T i

(@)

(b)

(c)

What was the Tennis Court Oath?
Tennis Court Oath & 5%z 2

What were the two important problems
before the Legislative Assembly of 17917

3955 5T (ERAGCEADS GIHIAR THS AT o7
T 451 & & 2

Name four countries of Europe where
repercussions of the French Revolution
of 1848 was seen.

AR SR PR AW R TS v 8y BR

w0l Reea aer 2™ et Cotfee |

(d) Mention two defects of the Vienna
Settlement.
fSc pie= o1 SR S <4 |

3. Write short notes on any three of the

following :

o [ e Fofivm eoe o et fer

(a) Reign of Terror
RIS
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2x4=8

5x3=15
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(4) (S)

(c) Give an account of the Revolution of

. Rousseau :
(b) 1848 in France. What were its results?

2
bt Sr8y B TR (FE Read «ft Raga fry
(c) July Revolution of 1830 _ 9 FeFErz [ wifke 2
STE DR frem (d) What were the causes of failure of the

Concert of Europe?

FO A FSEAE PSR 919 &
LA ' wifee ? s

(d) Crimean War

ur
(e) Cavo (¢) What were the Provisions of Congress of

@A Vienna? Do you think that the Vienna
Congress ignored the claims of
nationality in Europe?

4. Answer any three of the following questions :

10x3=30 e w3t W 5 @3 swem
| SISO SR 2fs Rge e fr eRa
oo R e Rt e s o - i R 1

(a) Analyze the character of the French ;
Revolution. Do you consider it to be a (fl Give an account of the causes of the

bourgeois revolution? downfall of Napoleon III.

45} fzia G e 941 | @2 R @@ TON  GRARETE e IRAEEE <Ol
FretapeR adl ca fee g S 2 faaet fr o

() What was the Continental System? How
did it bring the downfall of Napoleon? A
e A & wfE? @ T e
AR A SHifefee 2
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